

New derivations of d -algebras based on endomorphisms

Patchara Muangkarn¹, Cholatis Suanoom¹, Aiyared Iampan²

¹Science and Applied Science Center
Program of Mathematics
Kamphaeng Phet Rajabhat University
Kamphaeng Phet 62000, Thailand

²Fuzzy Algebras and Decision-Making Problems Research Unit
Department of Mathematics
School of Science
University of Phayao
Phayao 56000, Thailand

email: putchara_31@kpru.ac.th, cholatis.suanoom@gmail.com,
aiyared.ia@up.ac.th

(Received January 2, 2022, February 16, 2022)

Abstract

In this paper, we study some properties of a d -algebra X by using the concepts of an outside and an inside f_q -derivation based on an endomorphism f on X . Moreover, we discuss and prove some properties of a left-right and a right-left f_q -derivation of a self-map f on a d -algebra X .

Key words and phrases: d -algebra; f_q -derivation; outside and inside f_q -derivation; left-right and right-left f_q -derivation.

AMS (MOS) Subject Classifications: 06F35, 03G25.

Corresponding author: Aiyared Iampan (aiyared.ia@up.ac.th).

ISSN 1814-0432, 2022, <http://ijmcs.future-in-tech.net>

1 Introduction

In 1999, Neggers and Kim [7] introduced the concept of d -algebras which is another useful generalization of BCK-algebras. For more information on d -algebras we refer the reader to [4] where Kandaraj and Chandamouleeswaran introduced the concept of left F -derivations of d -algebras. In 2015, Al-Omary et al. [2] introduced the concept of generalized derivations on d -algebras. In 2016, Sawika et al. [8] introduced the concepts of $(l, r)/(r, l)$ -derivations and derivations of UP-algebras, and Iampan [3] introduced the concept of f -derivations of UP-algebras. In 2017, Tippanya et al. [9] introduced the concepts of left (right)- f -derivations of type I and of left (right)- f -derivations of type II of UP-algebras. In 2018, Kim [5] showed that the right translation maps become an (r, l) -derivation on BCK-algebras. In 2019, Al-Omary [1] introduced the concept of (α, β) -derivations on d -algebras. In 2021, Muangkarn et al. [6] studied the self-map d_q^f in an outside and inside f_q -derivation of B-algebras.

In this paper, we study some properties of a d -algebra X for the self-map d_q^f is an outside and an inside f_q -derivation of X , and prove some properties of a right-left and a left-right f_q -derivation of X .

2 Preliminaries

In this section, we will review the definitions, theorems and the material needed in our study.

Definition 2.1. *A d -algebra [7] is a non-empty set X with a constant 0 and a binary operation $*$ satisfying the following axioms:*

- (d1) $(\forall x \in X)(x * x = 0)$,
- (d2) $(\forall x \in X)(0 * x = 0)$,
- (d3) $(\forall x, y \in X)(x * y = 0, y * x = 0 \Rightarrow x = y)$.

Definition 2.2. [7] *Let $X = (X, *, 0)$ be a d -algebra. Then X is said to be edge if for any $x \in X$, $x * X = \{x, 0\}$. It is known that if X is an edge d -algebra, then*

$$(E) (\forall x \in X)(x * 0 = x).$$

Proposition 2.3. [4] *In any d -algebra $X = (X, *, 0)$, the following properties hold:*

- (d4) $(\forall x, y, z \in X)((x * y) * z = (x * z) * y)$,
- (d5) $(\forall x, y \in X)((x * (x * y)) * y = 0)$,
- (d6) $(\forall x, y, z \in X)((x * z) * (y * z)) * (x * y) = 0)$,
- (d7) $(\forall x \in X)(x * 0 = 0 \Rightarrow x = 0)$,
- (d8) $(\forall x, y, z \in X)(x * y = x * z \Rightarrow y = z)$,
- (d9) $(\forall x, y, z \in X)(y * x = z * x \Rightarrow y = z)$,
- (d10) $(\forall x, y \in X)(x * y = 0 \Rightarrow x = y)$.

Definition 2.4. [6] *A d -algebra $X = (X, *, 0)$ is said to be*

- (1) *associative if $(\forall x, y, z \in X)((x * y) * z = x * (y * z))$,*
- (2) *medial if $(\forall x, y, z, u \in X)((x * y) * (z * u) = (x * z) * (y * u))$,*
- (3) *generalized medial if $(\forall x, y, z \in X)(x * (y * z) = y * (x * z))$.*

We know that if $X = (X, *, 0)$ is medial, then

$$(M) (\forall x \in X)((x * 0) * 0 = 0).$$

Definition 2.5. [4] *A self-map f on a d -algebra $X = (X, *, 0)$ is called an endomorphism if $(\forall x, y \in X)(f(x * y) = f(x) * f(y))$, and it is said to be regular if $f(0) = 0$. We know that if f is an endomorphism on a d -algebra $X = (X, *, 0)$, then*

$$(En) f(0) = 0.$$

Hence, every endomorphism on X is regular.

Let f be an endomorphism of a d -algebra $X = (X, *, 0)$ and $q \in X$. The self-map d_q^f on X is defined by $(\forall x \in X)(d_q^f(x) = q * f(x))$. We note that d_0^f is the zero function on X . Indeed, $d_0^f(x) = 0 * f(x) = 0$ for all $x \in X$. Hence, d_0^f is regular.

Definition 2.6. *Let f be an endomorphism of a d -algebra $X = (X, *, 0)$. A self-map d_q^f on X is called*

- (1) *an outside f_q -derivation of X if $(\forall x, y \in X)(d_q^f(x * y) = f(x) * d_q^f(y))$,*
- (2) *an inside f_q -derivation of X if $(\forall x, y \in X)(d_q^f(x * y) = d_q^f(x) * f(y))$,*
- (3) *an f_q -derivation of X if it is both an outside and an inside f_q -derivation of X .*

By (d1), we have the following remark.

Remark 2.7. (1) If d_q^f is an outside f_q -derivation of X , then $(\forall x \in X)(d_q^f(0) = f(x) * d_q^f(x))$.

(2) If d_q^f is an inside f_q -derivation of X , then $(\forall x \in X)(d_q^f(0) = d_q^f(x) * f(x))$.

(3) If d_q^f is an f_q -derivation of X , then $(\forall x \in X)(d_q^f(0) = f(x) * d_q^f(x) = d_q^f(x) * f(x))$.

Next, we review a new concept of a left-right and a right-left f_q -derivation by the concept of [6] as follows:

For a d -algebra $X = (X, *, 0)$, we denote $(\forall x, y \in X)(x \sqcap y = (y * x) * x)$.

Definition 2.8. [6] Let f be an endomorphism of a d -algebra $X = (X, *, 0)$. A self-map d_q^f on X is called

(1) an left-right f_q -derivation (briefly, (l, r) - f_q -derivation) of X if

$$(\forall x, y \in X)(d_q^f(x * y) = (d_q^f(x) * f(y)) \sqcap (f(x) * d_q^f(y))),$$

(2) an right-left f_q -derivation (briefly, (r, l) - f_q -derivation) of X if

$$(\forall x, y \in X)(d_q^f(x * y) = (f(x) * d_q^f(y)) \sqcap (d_q^f(x) * f(y))).$$

3 Main results

In this section, our results will be studied deeply about outside and inside f_q -derivations, and left-right and right-left f_q -derivations of d -algebras. From now on, we shall let X be a d -algebra $X = (X, *, 0)$.

Theorem 3.1. The following statements hold.

(1) If d_q^f is an outside f_q -derivation of X , then $d_q^f(0) = 0$.

(2) If d_q^f is an inside f_q -derivation of X when X is edge, then $d_q^f(0) = q$.

Proof. (1) Assume that d_q^f is an outside f_q -derivation of X . By (d1)-(d2), we obtain $d_q^f(0) = d_q^f(0 * 0) = f(0) * d_q^f(0) = 0 * d_q^f(0) = 0$.

(2) Assume that d_q^f is an inside f_q -derivation X when X is edge. By (E) and (d1), we obtain $d_q^f(0) = d_q^f(0 * 0) = d_q^f(0) * f(0) = d_q^f(0) * 0 = d_q^f(0) = q * f(0) = q * 0 = q$. \square

As a result of Theorem 3.1 and (d1), we have the following corollary.

Corollary 3.2. *The following statements hold.*

- (1) *If d_q^f is an outside f_q -derivation of X , then $(\forall x \in X)(f(x) * d_q^f(x) = 0)$.*
- (2) *If d_q^f is an inside f_q -derivation of X when X is an edge, then $(\forall x \in X)(d_q^f(x) * f(x) = q)$.*

Theorem 3.3. *The following statements hold.*

- (1) *If f is the zero function on X , then d_0^f is an f_q -derivation of X .*
- (2) *d_0^f is an inside f_q -derivation of X .*

Proof. The proof is straightforward by (d2) and d_0^f is the zero function on X . □

Next, we will use the concept of an associative and medial to produce the following results.

Lemma 3.4. *If X is edge and medial, then $(\forall x, y, z \in X)(x * (y * z) = x * y)$.*

Proof. Let $x, y, z \in X$. By (E), the medial law, and (d2), we have $x * (y * z) = (x * 0) * (y * z) = (x * y) * (0 * z) = (x * y) * 0 = (x * y)$. □

Theorem 3.5. *If X is associative, then d_q^f is an inside f_q -derivation of X .*

Proof. Let $x, y \in X$. By the associative law, we have $d_q^f(x * y) = q * f(x * y) = q * (f(x) * f(y)) = (q * f(x)) * f(y) = d_q^f(x) * f(y)$. Hence, d_q^f is an inside f_q -derivation of X . □

As a result of Theorem 3.5, we have the following corollary.

Corollary 3.6. *If d_q^f is an outside f_q -derivation of X when X is associative, then d_q^f is an f_q -derivation of X .*

Theorem 3.7. *If X is generalized medial, then d_q^f is an outside f_q -derivation of X .*

Proof. Let $x, y \in X$. By the generalized medial law, we have $d_q^f(x * y) = q * f(x * y) = q * (f(x) * f(y)) = f(x) * (q * f(y)) = f(x) * d_q^f(y)$. Hence, d_q^f is an outside f_q -derivation of X . □

As a result of Theorem 3.7, we have the following corollary.

Corollary 3.8. *If d_q^f is an inside f_q -derivation of X when X is generalized medial, then d_q^f is an f_q -derivation of X .*

As a result of Theorems 3.5 and 3.7, we have the following corollary.

Corollary 3.9. *If X is associative and generalized medial, then d_q^f is an f_q -derivation of X .*

Theorem 3.10. *If X is edge and medial, then $(\forall x, y \in X)(d_q^f(x * y) = d_q^f(x))$.*

Proof. Let $x, y \in X$. By Lemma 3.4, we have $d_q^f(x * y) = q * f(x * y) = q * (f(x) * f(y)) = q * f(x) = d_q^f(x)$. \square

Theorem 3.11. *The following statements hold.*

- (1) d_q^f is injective if and only if f is injective.
- (2) If d_q^f is a regular f_q -derivation of X , then $d_q^f = f$.
- (3) If d_q^f is an inside (outside) f_q -derivation of X and there is an element $x_0 \in X$ such that $d_q^f(x_0) = f(x_0)$, then d_q^f is regular.
- (4) If d_q^f is an f_q -derivation of X and there is an element $x_0 \in X$ such that $d_q^f(x_0) = f(x_0)$, then $d_q^f = f$.

Proof. (1) Assume that d_q^f is injective. Let $x, y \in X$ be such that $f(x) = f(y)$. Then $d_q^f(x) = q * f(x) = q * f(y) = d_q^f(y)$. Since d_q^f is injective, we have $x = y$. Hence, f is injective.

Conversely, assume that f is injective. Let $x, y \in X$ be such that $d_q^f(x) = d_q^f(y)$. Then $q * f(x) = q * f(y)$. By (d8), we have $f(x) = f(y)$. Since f is injective, we have $x = y$. Hence, d_q^f is injective.

(2) Assume that d_q^f is a regular f_q -derivation of X . Let $x \in X$. By Remark 2.7 (3), we have $0 = d_q^f(0) = d_q^f(x) * f(x) = f(x) * d_q^f(x)$. By (d3), we have $d_q^f(x) = f(x)$, that is, $d_q^f = f$.

(3) Assume that d_q^f is an inside f_q -derivation of X and there is an element $x_0 \in X$ such that $d_q^f(x_0) = f(x_0)$. By Remark 2.7 (2) and (d1), we have $d_q^f(0) = d_q^f(x_0) * f(x_0) = 0$. Hence, d_q^f is regular.

(4) The proof is straightforward by (2) and (3). \square

Next, we present the results of (l, r) and (r, l) - f_q -derivations.

Theorem 3.12. *If d_q^f is an (l, r) - f_q -derivation of X , then it is regular.*

Proof. Assume that d_q^f is an (l, r) - f_q -derivation of X . By (d1), (En), and (d2), we have $d_q^f(0) = d_q^f(0 * 0) = (d_q^f(0) * f(0)) \sqcap (f(0) * d_q^f(0)) = (d_q^f(0) * f(0)) \sqcap (0 * d_q^f(0)) = (d_q^f(0) * f(0)) \sqcap 0 = (0 * (d_q^f(0) * f(0))) * (d_q^f(0) * f(0)) = 0$. Hence, d_q^f is regular. \square

Theorem 3.13. *If d_q^f is an (r, l) - f_q -derivation of X , then $d_q^f(0) = (((q * 0) * 0) * 0) * 0$. In particular, if $q \neq 0$, then d_q^f is not regular, that is, $d_q^f \neq f$.*

Proof. Assume that d_q^f is an (r, l) - f_q -derivation of X . By (d1), (En), and (d2), we have $d_q^f(0) = d_q^f(0 * 0) = (f(0) * d_q^f(0)) \sqcap (d_q^f(0) * f(0)) = (0 * d_q^f(0)) \sqcap (d_q^f(0) * 0) = 0 \sqcap (d_q^f(0) * 0) = ((d_q^f(0) * 0) * 0) * 0 = (((q * f(0)) * 0) * 0) * 0 = (((q * 0) * 0) * 0) * 0$. \square

Theorem 3.14. *If d_q^f is an (r, l) - f_q -derivation of X when X is edge, then $d_q^f(0) = q$.*

Proof. The proof is straightforward by (E) and Theorem 3.13. \square

Theorem 3.15. *If d_q^f is an (r, l) - f_q -derivation of X when X is medial, then it is regular.*

Proof. The proof is straightforward by (M) and Theorem 3.13. \square

4 Conclusion and Discussion

In this paper, we have introduced the concepts of an outside and an inside f_q -derivation and a left-right and a right-left f_q -derivation based on an endomorphism f on a d -algebra X . From the study, we found that

- (i) d_0^f is an inside f_q -derivation of X ,
- (ii) if X is associative, then d_q^f is an inside f_q -derivation of X , and
- (iii) if X is generalized medial, then d_q^f is an outside f_q -derivation of X .

In the future, we will study the concepts of an outside and an inside f_q -derivation and a left-right and a right-left f_q -derivation based on an endomorphism on BH/BF/BG-algebras.

5 Acknowledgment

This work was supported by the revenue budget in 2022, School of Science, University of Phayao.

References

- [1] R. M. Al-Omary, On (α, β) -derivations in d -algebras, *Boll. Unione Mat. Ital.*, **12**, (2019), 549–556.
- [2] R. M. Al-Omary, M. S. Khan, N. ur Rehman, On generalized derivations in d -algebras, *J. Adv. Res. Pure Math.*, **7**, no. 3, (2015), 23–34.
- [3] A. Iampan, Derivations of UP-algebras by means of UP-endomorphisms, *Alg. Struc. Appl.*, **3**, no. 2, (2016), 1–20.
- [4] N. Kandaraj, M. Chandramouleeswaran, On left F -derivations of d -algebras, *Int. J. Math. Arch.*, **3**, no. 11, (2012), 3961–3966.
- [5] Y. H. Kim, Some derivations on d -algebras, *Int. J. Fuzzy Log. Intell. Syst.*, **18**, no. 4, (2018), 298–302.
- [6] P. Muangkarn, C. Suanoom, P. Pengyim, A. Iampan, f_q -derivations of B-algebras, *J. Math. Comput. Sci.*, **11**, no. 2, (2021), 2047–2057.
- [7] J. Neggers, H. S. Kim, On d -algebras, *Math. Slovaca*, **49**, (1999), 19–26.
- [8] K. Sawika, R. Intasan, A. Kaewwasri, A. Iampan, Derivations of UP-algebras, *Korean J. Math.*, **24**, no. 3, (2016), 345–367.
- [9] T. Tippanya, N. Iam-art, P. Moonfong, A. Iampan, A new derivations of UP-algebras by means of UP-endomorphisms, *Algebra Lett.*, **2017**, (2017), Article ID 4.